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1 | EER=XKR JAL| 10,000 56% 46| KEx=LLU# JAL | 12,000 62%
2 | HE=18k JAL| 13,000 64% 47| K=& JEX | 12,000 60%
3 | Em=#Li% JAL| 13,000 60% 48| KIr=:EL JAL | 12,000 59%
4 | Em=F JAL| 14,000 64% 49| KER=4%r8 JAL | 12,000 58%
5 | KBr=18 JAL[ 11,000 50% 50 | KB =Rk JAL | 11,000 46%
6 | Kfx=#L1% JAL| 14,000 65% 51| KIr=EI% JAL | 11,000 57%
7 | KER=3BF JAL| 13,000 61% 52| KER=HEEX JEX | 11,000 53%
8 | faff=#L1% JAL| 14,000 71% 53| Kir=EIF JAL | 11,000 53%
9 | tBE=3F JAL| 11,000 60% 54| KER=FERE JAL/JEX]| 11,000 59%
10| Em=%#AR JAL| 14,000 65% 55| KBR=EEKXKE JAL/JEX] 12,000 66%
11| EFE=1BJI| JAL| 13,000 66% 56 | A E=%L1E JAL | 14,000 61%
12 | =5 JAL| 14,000 63% 57| 2EE=8I% JAL | 14,000 66%
13| Em=MbEE  |JAL[ 14,000 62% 58| AEE=EMBERL [ JAL | 14,000 65%
14| HHER=PEE JAL| 13,000 58% 5| AEE=FF% JAL | 13,000 59%
15| RRER=8% JAL[ 13,000 56% 60| HEE=H JAL | 12,000 58%
16| BRRER==IR JAL| 13,000 55% 61| REE=TEE JAL | 13,000 57%
17| BER=FfH JAL[ 12,000 51% 62| HEE=IUE JAL | 12,000 57%
18| RE=IUH JAL[ 9,000 52% 63| HEE=1lE JEX | 12,000 57%
19 | RE=/MA JAL| 10,000 55% 64| BEE=%5 JAL | 12,000 49%
20| ER=miHE JAL| 11,000 62% 65| BEE=L JAL | 11,000 49%
21 | Bm=[EL JAL[ 12,000 59% 66| REE=540 JAL | 11,000 57%
2| EE=L8 JAL| 12,000 60% 67| REHE=12[ JAL | 11,000 57%
23| EE=ILOFE JAL[ 12,000 64% 68| ZBEE=RIK JAL | 11,000 65%
24| RRER=HE JAL[ 12,000 61% 69| FEE=REX JAL/JEX| 11,000 62%
25| EE=EE JAL| 12,000 59% 0| FEE=ERE JAL/JEX]| 11,000 65%
26| EmE= ‘.E,‘M} JAL| 12,000 59% 71| 2EE=3}% JAL | 14,000 63%
27| BER=# JAL[ 12,000 62% 72| ER=8% JAL | 14,000 69%
28| FRER=5% JAL[ 12,000 61% 73| fBH=Tt%& JAL | 14,000 68%
29 [ =4t A JAL[ 13,000 64% 74| f2RE=1qL& JAL | 14,000 67%
30| FRER=K% JAL[ 13,000 63% 75| EBRE=5% JAL 9,000 62%
| FR=FIF JAL| 13,000 66% 76 | fERE= JAL 9,000 57%
32| ERE=FEX JAL| 13,000 64% 77| 2R =2EF JAL 9,000 55%
3| FR=FIF JAL| 13,000 64% 78| LR =25l JAL 9,000 58%
M| EmE=FERE JAL| 13,000 66% 79| fLiR=8F% JAL 9,000 58%
B| EER=EXS JAL| 13,000 71% 80| #LME==iR JAL 9,000 58%
6| FR=F2HE JAL| 9,000 52% 81| ALME=F\H JAL 9,000 64%
37| KrR==m5l JAL| 14,000 70% 82| ALiE=7E& JAL | 10,000 60%
38 | KBr=hnelll JAL[ 14,000 68% 83| #LE=LL% JAL | 11,000 62%
39 [ KEx =8I JAL[ 14,000 68% 84| #LIR=1{LE& JAL/JEX| 11,000 61%
40 | Kir=EMBHEIL | JAL[ 14,000 68% 85| ALIR={SIMA JAL [ 13,000 63%
41| Kirx=ptE JAL| 14,000 63% 86| ALIE=TLE JAL | 14,000 68%
2| Kix=5F%F JAL| 13,000 64% 87| #IE=HZE JAL | 14,000 67%
43| KIr==;R JAL| 13,000 65% 88| #iIR=1E5 JAL | 14,000 68%
44 | KBr=%H JAL| 13,000 60% 89| BRE=ExXXE JAL | 11,000 53%
45 | Kr=1t% JAL| 13,000 62%) 90| ERE=#,2 JAL | 11,000 59%
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1| KfR=%=5 JAC| 12,000 59%
2| Kix=%iA JAC| 12,000 58%
3| RBr=#l JAC| 9,000 49%
4] KR =1&[H JAC| 11,000 50%
5| Kfk=X% JAC| 11,000 44%
6| K== 1% JAC| 11,000 53%
1| KIR=FERE JAC| 11,000 59%
8| faiE=#al JAC| 9,000 57%
9| FEE=RERE JAC[ 8,500 55%
0] EIRE=®%XKE [JAC| 11,000 50%
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1 | #LiR=8I3& HAC| 9,000 55%
2 | ALIR=KEE HAC[ 9,000 45Y%
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